Hydrogen Atom
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Hydrogen Atom

¥ continuum unbound states: E > 0

¥ bound states: £ <0
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Asymptotic Forms
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Asymptotic Form
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Asymptotic Form

e’ ”v(p)

(C+1)phel Py — ptt el Pu 4 pitt e PO

(£ + 1)8%5! Le' P =200+ 1)pte Pu

_|_2(€_|_1)p€€' pg_\;+p£+l 6! P

$

2
+20+1—p) ¥ +p5r




Asymptotic Form
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Asymptotic Form
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Asymptotic Form
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Asymptotic Form

l+]1 —

u=p"" e v(p)




Asymptotic Form
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Asymptotic Form
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Asymptotic Form
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Power Saies Saution
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Power Seaies Saution
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Principle Quartum Number

N=Jmaxt 1+ 1

Bohr radius: a= - = 0.0529nm
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Hydrogen Wavefurction
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